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o BRI AFEIREZE (internal rate of return, IRR)

o WX EHFNEFTEHFE:

NPV(i) = Zn:(1+ i) R =0



ST / 'yﬂ G asane
ST A e
H H ~ F LT3

Syt RENMIN UNIVERSITY OF CHINA SCHOOL OF STATISTICS

il (WERRMEN) : BETSHFEL1005TT, FXRUEL10T, HEREE.
f#: =Mk
(1) MHEAFE: 10001 +i) =110, HIUEEE i=10%
(2) FERAHIE =110/ (1+D) , FEREAHTE = 100
S ER@mERSE: 110/(1+i)=100, FHTFmrMELE.
(3) %I =110/(1L +1i) - 100 = 0,
BEFN TR MERE.
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HE: (1) FE5%FM10%FIRKFETRFIME; (2) WEE.
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1.65, If 1=5%

(1) %3E: 5-a, -20 =
! -1.05 if i=10%
(2) W#hE: SHREFTT
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~20=0 =i=7.93%

5.8, -20=0 << 5
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Bl (W#EEREE) : R, =-100, R =230, R, =-133 , Rigi=.

-100 230 -133

230 133
1+i  (1+i)°

(1+i)*-2.31+i)+1.33=0

BT 2.3°-4x1.33=-0.03, FIELEHME, FTHEEVESE.

fig: BDUEH  NPV(i)=-100+
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100 + 13_22 =£(_)
A+1)" 1+
= [@+i)-1.1][@+i)-1.2]=0 —=1=10% or 1=20%
-100 230 -132
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B (E—WmER) - TH P EREF S FE4000, EHLIFEMB2ERTHIAT LK
131000 A1 4000, IMBQ EB2FFRFH x, ENEFELMBLERDHFTLIIKT
2000#14000, ZAREFIFEFH10%, MHANWEWFIEEF. HEBBOQRWEE.

t 0 1 2
P - 4000 1000 4000
Q 2000 4000 - X

1000 x (1+10%)* + 4000 x (1+10%) > — 4000 = 2000 + 4000 x (1+10%) * — xx (1+10%) > = X =6560

2000+4000/ (1+i)-6560/(1+i)°’=0 = i=6.88%
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Bl: FRARETZRFS, BFEEN2, SR (1=2003%) SHE—H

FE | RE | BA | FRA ARANRRE

0 10 -10 -10
1 1 -1 -10%(1 +1i)-1=-11.20
2 1 4 3 -11.20*(1 +1) +3 =-8.42
3 5 4 -1 -8.42*(1 +1)-1=-9.59
4 1 4 -9.59*(1 +1) +3 =-6.79
5 1 4 -6.79*(1 +1i)+3=-3.92
6 4 -3.92*(1+1)+4=0
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100 132
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0 -100 -100 0 -100 -100
1 230 | -100*(1+10%)+230 = 120 1 230 | -100(1+20%)+230=110
2 -132 120%(1+10%)-132 =0 2 -132 110(1+20)-132=0
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fil: RIEERFIEAHS%, BERAFEAH6Y, HEIEBEWEE.
0 1 2
25 BT -100 230 -133

BEMHEAIINME: 100 + 133/(1 + 8%)2 = 214
RERNHEFE: 230 x (1 + 6%) = 244

[EIEWEEZE:  214(1+i) =244 =i=6.73%
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(10%F120%) -100 230 -132

BERERINE: 100 + 132/(1 + 8%)2 = 213

BERNHEFAE: 230 x (1 + 6%) =244

[EIEUWEEEE:  213(1+i) =244 = i =6.94%
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(1+0.09)°(1+i)° =(1+0.08)° = i=7.01%
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FEEt=20 FTHERE ("SEXE) :

121xsy  +121xs, =64 = i=9.57%
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4. —5(1.08)
=100x1.08°(la);,, =100x1.08° 50-0800(5 ) =1669.91

FSERNEMNE: 6669.91

FEIEEZR: 10005, =6669.91= i =9.7643%
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%3] =0, IWEHEAEMKAAFIZE10000 , BEBRINI0%ANZEER.
ARABESENF BN ETKFB, KABRFWZEANL0%
ik FBEE~ERNFIZWARETIKAC, WKPCHFWEEHN10%
BESEF BB ETHKSAD, MADRFIREEZER10%

ik P DEFA~ERNF BB ETIKAE, KAEMFWERA10%

ik PEBEE T SRR ETRKAF, KAFRFREEH10%
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0 1 2 3 4 5 B HR
AN | 10000 10000
BHIYRA 1000 1000 1000 1000 1000
B R 1000 2000 3000 4000 5000 5000
CHIYA 100 200 300 400
CHIAR % 100 300 600 1000 1000
BIALPN 10 30 60
DR %R 10 40 100 100
EMYA 1 4
E R 1 5 5
FIrJHeN 0.1
FH AR 0.1 0.1

£t =10000% (1+10%)’ =16105.1 16105.1
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fl: £t =0, |AFEMKAAPIRFE2000 , FEHBREBSLHIYHE.
KPRASEFERNFRWARETHKAB, KABRIFWmEA10%.
KB BEFEMFIRWAFFETHKAC, WMACHFEWHE 7%,

& t = obF, FRBIRANRIRE, ARXSFRAEREFEFIIWEER.

BfE (t) 0 1 2 3 4 5

A HIUIA 2000

I B R4 100 100 100 100 100
K B Ry R 100 200 300 400 500

P C B 10 20 30 40
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B 18] 0 1 2 3 4 5 FELERFI R
A BN 2000 2000
B I 100 100 100 100 100 100%5 = 500
P C BN 10 20 30 40 10(ls)., , =107.25

i . —4xXA+7%) *
10 (I8) 1,4, = 10 X —7 7(; °) =107.25
0

2000 (1 + 7) °>=2000 + 500 + 107.25

i=15.45%
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- HEMMRWNEZR (dollar-weighted yield rate ):
- EEHRAEN ARBEKTE
- BFE)MAUNEEZR (time-weighted yield rate ):
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A,(1+0)+ > C(1+)""
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B5l: FE#FEN100/A, t=0.507FAN20/, t=0.882HS50/,
(1) HEHBYBREHAE (PHAXEFKE)
(2) MNRFERMKPREN A0, MAPHFERMEMNNGERESZD?

100 20 - 50

(1) 100x1+ 20 x 0.5-50 x 0.2 =100
(2) 80- (100+20-50) =10

i =10/100 = 10%
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fl: EEHFAN1000, FE4TMAFRFA1000, £6HF8H KRS AIHEEN200F1500.
HEFRE, EEKRTA1500. HHESHHEMRUEE.

1000 1000

4/12 6/12 8/12

| |

200 500

FIE: 1500— (1000 + 1000 — 200 — 500 ) =200

H% &€ B : 1000+1000(1—ij—200(1—3j—500(1—§j=1400
12 12 12

==X _14.29%
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1000 1000

4/12 6/12 8/12
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200 500

1000(1+7) +1000(1 +7)**"2 —200(1 +7)"*"? —500(1 +)**"> =1500

F5H1{E14.33%
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T P B T (EL N A W R AR [B) I Az R .

1-1 5-1 11-1 1-1

100 > 112 > 125 100
30 42



100 > 112 * 125 100
B30 HiHh-42

f#: (1) hEMSKERE
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I=100- (100+30-42) = 12 j= = 5 =10.62%
100+3O><E—42><—

12

(2) BeE]AnA A 3R

(212 100 ) | _s700
100 )L 112+30 )\ 12542

12% -12% 20%
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B 18] N AU 2 2210 %

A 2000

: —-1=10%
1000 A+C

A=1064.32

B 1000(1+1)°° =1064.32 i =13.27%.



fil: BEEANHEMPUNERSETES BRI EIMAEER, T, t8 i
% B
ZERM wm | e BoRW
191H 100
7H1A 125 > 1A1H 100
10818 110 2x 7A1H 125 »
12H31H 125 12A431H 105.8
125—(100—x+2
4 A2 ( : X X3) g, 125 1058
100—x(—)+2x(—) 100 125-x
12 12
— x=10 i=15%



G PTAARKZS | GitFk
Nyt -.--“ RENMIN UNIVERSITY OF CHINA SCHOOL OF STATISTICS
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- EF3%E: 10000(1 + 0.06)%12 — 10000 = 446.71

. BF3E: 10000X6%X9/12 = 450
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2011 2016
2012 2017
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2016
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f5il: 2017FanfA > ACULZER ? 2014 R R FE21 7 FE AR D ECULER ? 20104ERR ?
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Bl: i ZEAE2016FH]RMEETIIA100, BEMFRWANESFEREIL . T
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R EEBE2020F M EEEIRA100, BEMFRWANESFREFMEL . T
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A: 100x7% =7 B: 100 x 11% = 11
REEFF R
R [ , — lmafis | AARRKEE
I 2) I3

2017 10% 10% 7% 8% 2020
2018 12% 5% 10% 7% 2021
2019 8% 9% 12%

2020 9% 1%

2021 8%
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100(1+10%)(1+9%)(1+7%)(1+8%)(7%) = 9.7
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I4 I I3
2017 10% 9% 7% 8% 2020
2018 12% 5% 10% 7% 2021
2019 8% 9% 12%
2020 9% 1%
2021 7%
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$11:2010, 2011F02012894E#) 4y BlI#% 35100, 7E20135E S EcH 225 528.40. & -

B4 ,-1 %i’gﬂ% —meHE | BERENEE
10% 10% r 8% 2013
12% 5% 10% 7% 2014
8% r-0.02 12%

2013 9% 11%

2014 7%

20104E4IB¥ R : 100(1.10) (1.10) (1+r) (0.08)
2011 EE#B93 % : 100(1.12) (1.05) (0.1)
20125F#IRY$E: 100(1.08) (r—0.02)
=R =284, #r=7.75%
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SEER:
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12 X
I 0=9015+x FIE =60-60—10=-10
=120 4+ 10X = 12X B ~10 o
Y= 10xX1+60x0.5 25%
=120 =2X
= X =060
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- %43: 1818, BEMARNSE 50000, 5518, MABMEREINE]52000,
HHIEM# #8000, FERTE) t, AR {EIEMNE]6200, ZHMNMKAHEE

EY10000. fEXE1A1H, KAAIMNEAS55000. Ik P AYETE) MNPV EE R FT
MEMRVIEER., T t,




G PAARKZ | GitFR
‘. — ..--“ RENMIN UNIVERSITY OF CHINA SCHOOL OF STATISTICS

FIE = 55,000 — 50,000 — 8,000 + 10,000 = 7,000

MU s R
7,000 52 62 55

50,000+ (16,000/3) —10,000(1 —¢) 50 60 52 —1=0.13667

7,000 =0.13667 (55, 333.33 — 10,000 + 10, 000t )

t=[7,000 —0.13667(45,333.33)]/1,366.7 =0.5885.



